Dividing Money (C)

—_

10.

Calculate each quotient.

88 ) $6459.20 2. 53 ) $3031.60 3. 23 ) $2033.20
22 ) $506.00 5. 53 ) $3063.40 6. 53 ) $1833.80
22 ) $1694.00 8. 75 ) $5505.00 9. 28 ) $1148.00

If 47 identical toy robots cost $2613.20, how much did each toy robot

cost?
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Dividing Money (C) Answers

10.

$ 73.40

88 ) $6459.20
—$6160.00
$299.20
—$264.00
$35.20
—$35.20

$0.00

$ 23.00

22 ') $506.00
—$440.00
$66.00
—$66.00

$0.00

$ 77.00

22 ) $1694.00
—$1540.00
$154.00
—$154.00

$0.00

2.

5.

8.

Calculate each quotient.

$ 57.20

53 ) $3031.60
—§2650.00
$381.60
—$371.00
$10.60
—$10.60

$0.00

$ 57.80

53 ) $3063.40
—$2650.00

$413.40
—$371.00

$42.40
—$42.40

$0.00

$ 73.40

75 ) $5505.00
—$5250.00

$255.00
—$225.00

$30.00
—3$30.00

$0.00

$ 88.40

23 ) $2033.20
—51840.00
$193.20
—$184.00
$9.20

—$9.20

$0.00

$ 34.60

53 ) $1833.80
—$1590.00

$243.80
—$212.00

$31.80
—$31.80

$0.00

$ 41.00

28 ) $1148.00
—$1120.00

$28.00
—$28.00

$0.00

If 47 identical toy robots cost $2613.20, how much did each toy robot

cost? $55.60
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